
RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0146

RB-AD0174

RB-AD0144

RB-AD0145

BJ-AD0001 BJ-AD0002 CA-AD0161

BJ-AD0002 8A0 407 365 BALL JOINT / DIA 19mm

BJ-AD0001 8A0 407 365 BALL JOINT / DIA 19mm

CA-AD0161 8A0 501 530C CONTROL ARM

BJ-AD0002K

BJ-AD0001K

CA-AD0161K

CA-AD0005 CA-AD0006

CA-AD0006 443 407 152B CONTROL ARM / DIA 18mm

CA-AD0005 443 407 151B CONTROL ARM / DIA 18mm

CA-AD0006K

CA-AD0005K

CA-AD0001 CA-AD0002

CA-AD0002 4A0 407 152 CONTROL ARM / DIA 19mm

CA-AD0001 4A0 407 151 CONTROL ARM / DIA 19mm

CA-AD0002K

CA-AD0001K

AUDI Avant / Saloon80 / 100 / 200

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0146

RB-AD0174

RB-AD0144

RB-AD0145

BJ-AD0001 BJ-AD0002 CA-AD0161

BJ-AD0002 8A0 407 365 BALL JOINT / DIA 19mm

BJ-AD0001 8A0 407 365 BALL JOINT / DIA 19mm

CA-AD0161 8A0 501 530C CONTROL ARM

BJ-AD0002K

BJ-AD0001K

CA-AD0161K

CA-AD0005 CA-AD0006

CA-AD0006 443 407 152B CONTROL ARM / DIA 18mm

CA-AD0005 443 407 151B CONTROL ARM / DIA 18mm

CA-AD0006K

CA-AD0005K

CA-AD0001 CA-AD0002

CA-AD0002 4A0 407 152 CONTROL ARM / DIA 19mm

CA-AD0001 4A0 407 151 CONTROL ARM / DIA 19mm

CA-AD0002K

CA-AD0001K

AUDI Avant / Saloon80 / 100 / 200

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0003

RB-AD0006

CA-AD0013 BJ-AD0003 BJ-AD0004

SL-AD0014 SL-AD0011 SL-AD0015

TE-AD0012 RE-AD0003

SL-AD0013

TE-AD0011

1J0 407 152A CONTROL ARM / METAL 

1J0 407 151A CONTROL ARM / METAL 

BJ-AD0004 1J0 407 366D BALL JOINT / DIA 15mm

BJ-AD0003 1J0 407 365D BALL JOINT / DIA 15mm

SL-AD0013

CA-AD0013

CA-AD0013

CA-AD0014K

CA-AD0013K

BJ-AD0004K

SL-AD0011 1J0 411 315C STABILIZER LINK / PLASTIC TYPE

BJ-AD0003K

1J0 411 315D STABILIZER LINK / MOD.QUATTRO

SL-AD0014 1J0 411 316D STABILIZER LINK / MOD.QUATTRO

SL-AD0015 1J0 411 315G STABILIZER LINK / STEEL TYPE

TE-AD0012 1J0 422 812A TIE ROD END / M14x1.5 / RHT

TE-AD0011 1J0 422 811A TIE ROD END / M14x1.5 / RHT

RE-AD0003 1J0 422 807 RACK END / M14x1.5 / RHT / L:360mm

AUDI A3 1996-2003(8L)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           80/100/200           AVANT SALOON

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0003

RB-AD0006

CA-AD0013 BJ-AD0003 BJ-AD0004

SL-AD0014 SL-AD0011 SL-AD0015

TE-AD0012 RE-AD0003

SL-AD0013

TE-AD0011

1J0 407 152A CONTROL ARM / METAL 

1J0 407 151A CONTROL ARM / METAL 

BJ-AD0004 1J0 407 366D BALL JOINT / DIA 15mm

BJ-AD0003 1J0 407 365D BALL JOINT / DIA 15mm

SL-AD0013

CA-AD0013

CA-AD0013

CA-AD0014K

CA-AD0013K

BJ-AD0004K

SL-AD0011 1J0 411 315C STABILIZER LINK / PLASTIC TYPE

BJ-AD0003K

1J0 411 315D STABILIZER LINK / MOD.QUATTRO

SL-AD0014 1J0 411 316D STABILIZER LINK / MOD.QUATTRO

SL-AD0015 1J0 411 315G STABILIZER LINK / STEEL TYPE

TE-AD0012 1J0 422 812A TIE ROD END / M14x1.5 / RHT

TE-AD0011 1J0 422 811A TIE ROD END / M14x1.5 / RHT

RE-AD0003 1J0 422 807 RACK END / M14x1.5 / RHT / L:360mm

AUDI A3 1996-2003(8L)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

CA-AD0043 CA-AD0044 CA-AD0039

BJ-AD0005 BJ-AD0006 AK-AD0001

CA-AD0167 CA-AD0169 CA-AD0170

SL-AD0047

CA-AD0040

AK-AD0002 

SL-AD0045

CA-AD0044 1K0 407 152M CONTROL ARM / CASTIRON FORGING

CA-AD0043 1K0 407 151M CONTROL ARM / CASTIRON FORGING

CA-AD0040 1K0 407 152P CONTROL ARM / GASOLINE ENGINE

CA-AD0039 1K0 407 151P CONTROL ARM / GASOLINE ENGINE

CA-AD0169

CA-AD0167 1K0 505 323H CONTROL ARM

1K0 501 529F CONTROL ARM

CA-AD0170 1K0 501 530C CONTROL ARM

BJ-AD0005 1K0 407 365C BALL JOINT

AK-AD0001 1K0 199 231G ARM SUPPORT

BJ-AD0006

CA-AD0044K

CA-AD0043K

CA-AD0046K

CA-AD0045K

CA-AD0169K

CA-AD0167K

CA-AD0170K

BJ-AD0005K

BJ-AD0006K 1K0 407 366C BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

AK-AD0002

AK-AD0001K

AK-AD0002K 1K0 199 232G ARM SUPPORT

TE-AD0033 TE-AD0034 RE-AD0015

TE-AD0034 1K0 423 812A TIE ROD END

TE-AD0033 1K0 423 811A TIE ROD END

RE-AD0015 1K0 423 810A RACK END / M16x1.5 RHT

AUDI 2003-2013A3 (8P)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0003

RB-AD0006

CA-AD0013 BJ-AD0003 BJ-AD0004

SL-AD0014 SL-AD0011 SL-AD0015

TE-AD0012 RE-AD0003

SL-AD0013

TE-AD0011

1J0 407 152A CONTROL ARM / METAL 

1J0 407 151A CONTROL ARM / METAL 

BJ-AD0004 1J0 407 366D BALL JOINT / DIA 15mm

BJ-AD0003 1J0 407 365D BALL JOINT / DIA 15mm

SL-AD0013

CA-AD0013

CA-AD0013

CA-AD0014K

CA-AD0013K

BJ-AD0004K

SL-AD0011 1J0 411 315C STABILIZER LINK / PLASTIC TYPE

BJ-AD0003K

1J0 411 315D STABILIZER LINK / MOD.QUATTRO

SL-AD0014 1J0 411 316D STABILIZER LINK / MOD.QUATTRO

SL-AD0015 1J0 411 315G STABILIZER LINK / STEEL TYPE

TE-AD0012 1J0 422 812A TIE ROD END / M14x1.5 / RHT

TE-AD0011 1J0 422 811A TIE ROD END / M14x1.5 / RHT

RE-AD0003 1J0 422 807 RACK END / M14x1.5 / RHT / L:360mm

AUDI A3 1996-2003(8L)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A3 (8L)              1996-2003

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

CA-AD0043 CA-AD0044 CA-AD0039

BJ-AD0005 BJ-AD0006 AK-AD0001

CA-AD0167 CA-AD0169 CA-AD0170

SL-AD0047

CA-AD0040

AK-AD0002 

SL-AD0045

CA-AD0044 1K0 407 152M CONTROL ARM / CASTIRON FORGING

CA-AD0043 1K0 407 151M CONTROL ARM / CASTIRON FORGING

CA-AD0040 1K0 407 152P CONTROL ARM / GASOLINE ENGINE

CA-AD0039 1K0 407 151P CONTROL ARM / GASOLINE ENGINE

CA-AD0169

CA-AD0167 1K0 505 323H CONTROL ARM

1K0 501 529F CONTROL ARM

CA-AD0170 1K0 501 530C CONTROL ARM

BJ-AD0005 1K0 407 365C BALL JOINT

AK-AD0001 1K0 199 231G ARM SUPPORT

BJ-AD0006

CA-AD0044K

CA-AD0043K

CA-AD0046K

CA-AD0045K

CA-AD0169K

CA-AD0167K

CA-AD0170K

BJ-AD0005K

BJ-AD0006K 1K0 407 366C BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

AK-AD0002

AK-AD0001K

AK-AD0002K 1K0 199 232G ARM SUPPORT

TE-AD0033 TE-AD0034 RE-AD0015

TE-AD0034 1K0 423 812A TIE ROD END

TE-AD0033 1K0 423 811A TIE ROD END

RE-AD0015 1K0 423 810A RACK END / M16x1.5 RHT

AUDI 2003-2013A3 (8P)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

RB-AD0007

AK-AD0001

RB-AD0007

AK-AD0002

CA-AD0043 CA-AD0044 CA-AD0039

BJ-AD0005 BJ-AD0006 AK-AD0001

CA-AD0167 CA-AD0169 CA-AD0170

SL-AD0047

CA-AD0040

AK-AD0002 

SL-AD0045

CA-AD0044 1K0 407 152M CONTROL ARM / CASTIRON FORGING

CA-AD0043 1K0 407 151M CONTROL ARM / CASTIRON FORGING

CA-AD0040 1K0 407 152P CONTROL ARM / GASOLINE ENGINE

CA-AD0039 1K0 407 151P CONTROL ARM / GASOLINE ENGINE

CA-AD0169

CA-AD0167 1K0 505 323H CONTROL ARM

1K0 501 529F CONTROL ARM

CA-AD0170 1K0 501 530C CONTROL ARM

BJ-AD0005 1K0 407 365C BALL JOINT

AK-AD0001 1K0 199 231G ARM SUPPORT

BJ-AD0006

CA-AD0044K

CA-AD0043K

CA-AD0046K

CA-AD0045K

CA-AD0169K

CA-AD0167K

CA-AD0170K

BJ-AD0005K

BJ-AD0006K 1K0 407 366C BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

AK-AD0002

AK-AD0001K

AK-AD0002K 1K0 199 232G ARM SUPPORT

TE-AD0033 TE-AD0034 RE-AD0015

TE-AD0034 1K0 423 812A TIE ROD END

TE-AD0033 1K0 423 811A TIE ROD END

RE-AD0015 1K0 423 810A RACK END / M16x1.5 RHT

AUDI 2003-2013A3 (8P)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0390
RB-AD0149

RB-AD0148 RB-AD0147

CA-AD0015 CA-AD0016 CA-AD0025 CA-AD0026

CA-AD0021 CA-AD0022

SL-AD0019

Enhance design

Enhance design

Enhance design

SL-AD0020

CA-AD0027 CA-AD0028

CA-AD0023 CA-AD0163

RE-AD0005SL-AD0017 TE-AD0013/EN TE-AD0013

CA-AD0016 4D0 407 510D CONTROL ARM / ALUMINUM

CA-AD0015 4D0 407 509D CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

CA-AD0023 4D0 407 151P CONTROL ARM / ALUMINUM

SL-AD0019 8D0 411 317D STABILIZER LINK / ALUMINUM

CA-AD0163

CA-AD0016K

CA-AD0015K

CA-AD0025K

CA-AD0027K

CA-AD0026K

CA-AD0028K

CA-AD0022K

CA-AD0021K

CA-AD0023K

CA-AD0163K 8D0 501 530 CONTROL ARM 

SL-AD0020

SL-AD0019K

SL-AD0020K 8D0 411 318D STABILIZER LINK / ALUMINUM

TE-AD0013/EN 4B0 419 811E OUTER TIE ROD END / M 14x1.5 RHT / Enhanced

SL-AD0017 4D0 411 317J STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M 14x1.5 RHT

AUDI 1995-2001A4 (B5)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A3 (8P)                 2003-2013

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0390
RB-AD0149

RB-AD0148 RB-AD0147

CA-AD0015 CA-AD0016 CA-AD0025 CA-AD0026

CA-AD0021 CA-AD0022

SL-AD0019

Enhance design

Enhance design

Enhance design

SL-AD0020

CA-AD0027 CA-AD0028

CA-AD0023 CA-AD0163

RE-AD0005SL-AD0017 TE-AD0013/EN TE-AD0013

CA-AD0016 4D0 407 510D CONTROL ARM / ALUMINUM

CA-AD0015 4D0 407 509D CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

CA-AD0023 4D0 407 151P CONTROL ARM / ALUMINUM

SL-AD0019 8D0 411 317D STABILIZER LINK / ALUMINUM

CA-AD0163

CA-AD0016K

CA-AD0015K

CA-AD0025K

CA-AD0027K

CA-AD0026K

CA-AD0028K

CA-AD0022K

CA-AD0021K

CA-AD0023K

CA-AD0163K 8D0 501 530 CONTROL ARM 

SL-AD0020

SL-AD0019K

SL-AD0020K 8D0 411 318D STABILIZER LINK / ALUMINUM

TE-AD0013/EN 4B0 419 811E OUTER TIE ROD END / M 14x1.5 RHT / Enhanced

SL-AD0017 4D0 411 317J STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M 14x1.5 RHT

AUDI 1995-2001A4 (B5)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0390

RB-AD0149

RB-AD0301 RB-AD0148

RB-AD0149

Enhance design

RE-AD0005

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0013/EN TE-AD0013

CA-AD0021 CA-AD0022

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK / ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0022K

CA-AD0021K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK / ALUMINUM 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

TE-AD0013/EN 4B0 419 811E TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0013 4B0 419 811E TIE ROD END / M14x1.5 RHT

2001-2006AUDI A4 (B6)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0390
RB-AD0149

RB-AD0148 RB-AD0147

CA-AD0015 CA-AD0016 CA-AD0025 CA-AD0026

CA-AD0021 CA-AD0022

SL-AD0019

Enhance design

Enhance design

Enhance design

SL-AD0020

CA-AD0027 CA-AD0028

CA-AD0023 CA-AD0163

RE-AD0005SL-AD0017 TE-AD0013/EN TE-AD0013

CA-AD0016 4D0 407 510D CONTROL ARM / ALUMINUM

CA-AD0015 4D0 407 509D CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

CA-AD0023 4D0 407 151P CONTROL ARM / ALUMINUM

SL-AD0019 8D0 411 317D STABILIZER LINK / ALUMINUM

CA-AD0163

CA-AD0016K

CA-AD0015K

CA-AD0025K

CA-AD0027K

CA-AD0026K

CA-AD0028K

CA-AD0022K

CA-AD0021K

CA-AD0023K

CA-AD0163K 8D0 501 530 CONTROL ARM 

SL-AD0020

SL-AD0019K

SL-AD0020K 8D0 411 318D STABILIZER LINK / ALUMINUM

TE-AD0013/EN 4B0 419 811E OUTER TIE ROD END / M 14x1.5 RHT / Enhanced

SL-AD0017 4D0 411 317J STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M 14x1.5 RHT

AUDI 1995-2001A4 (B5)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A4 (B5)             1995-2001

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0390

RB-AD0149

RB-AD0301 RB-AD0148

RB-AD0149

Enhance design

RE-AD0005

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0013/EN TE-AD0013

CA-AD0021 CA-AD0022

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK / ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0022K

CA-AD0021K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK / ALUMINUM 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

TE-AD0013/EN 4B0 419 811E TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0013 4B0 419 811E TIE ROD END / M14x1.5 RHT

2001-2006AUDI A4 (B6)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149

RB-AD0583

RB-AD0149

RB-AD0301 RB-AD0148

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0025 RE-AD0007

CA-AD0073 CA-AD0074

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0074 8E0 407 694T CONTROL ARM / ALUMINUM

CA-AD0073 8E0 407 693T CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK/  ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0074K

CA-AD0073K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK/  ALUMINUM

RE-AD0007 8E0 422 821 RACK END / M14x1.5 RHT

TE-AD0025 4F0 419 811C TIE ROD END / M14x1.5 RHT

2004-2009AUDI A4 (B7)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0390

RB-AD0149

RB-AD0301 RB-AD0148

RB-AD0149

Enhance design

RE-AD0005

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0013/EN TE-AD0013

CA-AD0021 CA-AD0022

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK / ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0022K

CA-AD0021K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK / ALUMINUM 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK / ALUMINUM

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

TE-AD0013/EN 4B0 419 811E TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0013 4B0 419 811E TIE ROD END / M14x1.5 RHT

2001-2006AUDI A4 (B6)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI          A4 (B6)             2001-2006

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149

RB-AD0583

RB-AD0149

RB-AD0301 RB-AD0148

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0025 RE-AD0007

CA-AD0073 CA-AD0074

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0074 8E0 407 694T CONTROL ARM / ALUMINUM

CA-AD0073 8E0 407 693T CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK/  ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0074K

CA-AD0073K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK/  ALUMINUM

RE-AD0007 8E0 422 821 RACK END / M14x1.5 RHT

TE-AD0025 4F0 419 811C TIE ROD END / M14x1.5 RHT

2004-2009AUDI A4 (B7)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149

RB-AD0583

RB-AD0149

RB-AD0301 RB-AD0148

CA-AD0025 CA-AD0026 CA-AD0027 CA-AD0028

CA-AD0031 SL-AD0023

TE-AD0025 RE-AD0007

CA-AD0073 CA-AD0074

SL-AD0021 SL-AD0022

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0074 8E0 407 694T CONTROL ARM / ALUMINUM

CA-AD0073 8E0 407 693T CONTROL ARM / ALUMINUM

SL-AD0021 8E0 411 317 STABILIZER LINK/  ALUMINUM

CA-AD0031

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0074K

CA-AD0073K

CA-AD0031K 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0023 8E0 505 465K STABILIZER LINK 

SL-AD0022

SL-AD0021K

SL-AD0022K 8E0 411 318 STABILIZER LINK/  ALUMINUM

RE-AD0007 8E0 422 821 RACK END / M14x1.5 RHT

TE-AD0025 4F0 419 811C TIE ROD END / M14x1.5 RHT

2004-2009AUDI A4 (B7)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582
RB-AD0011

RB-AD0582

RB-AD0013

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / ALUMINUM / Ø 13.8

8K0 407 152B CONTROL ARM / ALUMINUM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / ALUMINUM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / ALUMINUM/ Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0124 8K0 505 324F CONTROL ARM

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124K

CA-AD0123K

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

2008-2016AUDI A4 (B8)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A4 (B7)              2004-2009

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582
RB-AD0011

RB-AD0582

RB-AD0013

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / ALUMINUM / Ø 13.8

8K0 407 152B CONTROL ARM / ALUMINUM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / ALUMINUM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / ALUMINUM/ Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0124 8K0 505 324F CONTROL ARM

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124K

CA-AD0123K

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

2008-2016AUDI A4 (B8)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582
RB-AD0011

RB-AD0582

RB-AD0013

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / ALUMINUM / Ø 13.8

8K0 407 152B CONTROL ARM / ALUMINUM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / ALUMINUM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / ALUMINUM/ Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM / Ø 17 / M14*1.5

CA-AD0124 8K0 505 324F CONTROL ARM

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124K

CA-AD0123K

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

2008-2016AUDI A4 (B8)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM / ALUMINUM

CA-AD0125 8K0 501 529K CONTROL ARM / ALUMINUM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2008-2016AUDI A4 (B8)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A4 (B8)             2008-2016

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM / ALUMINUM

CA-AD0125 8K0 501 529K CONTROL ARM / ALUMINUM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2008-2016AUDI A4 (B8)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM / ALUMINUM

CA-AD0125 8K0 501 529K CONTROL ARM / ALUMINUM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2008-2016AUDI A4 (B8)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0041 RB-AD0041

RB-AD0011 RB-AD0582RB-AD0017

CA-AD0191 CA-AD0192 CA-AD0193 CA-AD0194

BJ-AD0021

CA-AD0196

TE-AD0049

TE-AD0050

CA-AD0197 CA-AD0198 BJ-AD0195

RE-AD0027

SL-AD0055 SL-AD0057

CA-AD0192 8W0 407 506C CONTROL ARM

CA-AD0191 8W0 407 505C CONTROL ARM 

CA-AD0193 8W0 407 509B CONTROL ARM

CA-AD0195 8W0 407 151A CONTROL ARM 

CA-AD0194 8W0 407 510B CONTROL ARM

CA-AD0196 8W0 407 152A CONTROL ARM

CA-AD0198 8W0 407 694B CONTROL ARM

CA-AD0197 8W0 407 693B CONTROL ARM

BJ-AD0021

CA-AD0192K

CA-AD0191K

CA-AD0193K

CA-AD0195K

CA-AD0194K

CA-AD0196K

CA-AD0198K

CA-AD0197K

BJ-AD0021K 8W0 407 689A BALL JOINT

TE-AD0050 8W0 423 812B TIE ROD END

SL-AD0057 8K0 411 317D STABILIZER LINK / PLASTIC

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINIUM

TE-AD0049 8W0 423 811B TIE ROD END

RE-AD0027 8W0 423 810 RACK END

AUDI 2016-A4 (B9)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A4 (B8)              2008-2016

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0041 RB-AD0041

RB-AD0011 RB-AD0582RB-AD0017

CA-AD0191 CA-AD0192 CA-AD0193 CA-AD0194

BJ-AD0021

CA-AD0196

TE-AD0049

TE-AD0050

CA-AD0197 CA-AD0198 BJ-AD0195

RE-AD0027

SL-AD0055 SL-AD0057

CA-AD0192 8W0 407 506C CONTROL ARM

CA-AD0191 8W0 407 505C CONTROL ARM 

CA-AD0193 8W0 407 509B CONTROL ARM

CA-AD0195 8W0 407 151A CONTROL ARM 

CA-AD0194 8W0 407 510B CONTROL ARM

CA-AD0196 8W0 407 152A CONTROL ARM

CA-AD0198 8W0 407 694B CONTROL ARM

CA-AD0197 8W0 407 693B CONTROL ARM

BJ-AD0021

CA-AD0192K

CA-AD0191K

CA-AD0193K

CA-AD0195K

CA-AD0194K

CA-AD0196K

CA-AD0198K

CA-AD0197K

BJ-AD0021K 8W0 407 689A BALL JOINT

TE-AD0050 8W0 423 812B TIE ROD END

SL-AD0057 8K0 411 317D STABILIZER LINK / PLASTIC

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINIUM

TE-AD0049 8W0 423 811B TIE ROD END

RE-AD0027 8W0 423 810 RACK END

AUDI 2016-A4 (B9)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0041 RB-AD0041

RB-AD0011 RB-AD0582RB-AD0017

CA-AD0191 CA-AD0192 CA-AD0193 CA-AD0194

BJ-AD0021

CA-AD0196

TE-AD0049

TE-AD0050

CA-AD0197 CA-AD0198 BJ-AD0195

RE-AD0027

SL-AD0055 SL-AD0057

CA-AD0192 8W0 407 506C CONTROL ARM

CA-AD0191 8W0 407 505C CONTROL ARM 

CA-AD0193 8W0 407 509B CONTROL ARM

CA-AD0195 8W0 407 151A CONTROL ARM 

CA-AD0194 8W0 407 510B CONTROL ARM

CA-AD0196 8W0 407 152A CONTROL ARM

CA-AD0198 8W0 407 694B CONTROL ARM

CA-AD0197 8W0 407 693B CONTROL ARM

BJ-AD0021

CA-AD0192K

CA-AD0191K

CA-AD0193K

CA-AD0195K

CA-AD0194K

CA-AD0196K

CA-AD0198K

CA-AD0197K

BJ-AD0021K 8W0 407 689A BALL JOINT

TE-AD0050 8W0 423 812B TIE ROD END

SL-AD0057 8K0 411 317D STABILIZER LINK / PLASTIC

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINIUM

TE-AD0049 8W0 423 811B TIE ROD END

RE-AD0027 8W0 423 810 RACK END

AUDI 2016-A4 (B9)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013 RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / Ø 13.8

8K0 407 152B CONTROL ARM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124

CA-AD0123K

CA-AD0124K 8K0 505 324F CONTROL ARM

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

AUDI 2007-2016A5  (8T)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A4 (B9)             2016-

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013 RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / Ø 13.8

8K0 407 152B CONTROL ARM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124

CA-AD0123K

CA-AD0124K 8K0 505 324F CONTROL ARM

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

AUDI 2007-2016A5  (8T)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013 RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0011

RB-AD0017 RB-AD0017

RB-AD0582

CA-AD0107 CA-AD0108 CA-AD0109

CA-AD0119 CA-AD0120 CA-AD0121

CA-AD0110

CA-AD0122

CA-AD0111 CA-AD0112 CA-AD0117 CA-AD0118

BJ-AD0015 BJ-AD0017 CA-AD0123 CA-AD0124

CA-AD0108 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0110 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120

CA-AD0119 8K0 407 151B CONTROL ARM / Ø 13.8

8K0 407 152B CONTROL ARM / Ø 13.8

CA-AD0121 8K0 407 151F CONTROL ARM / Ø 17

CA-AD0122 8K0 407 152F CONTROL ARM / Ø 17

CA-AD0112 8K0 407 694K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0111 8K0 407 693K CONTROL ARM / Ø 14.4 / M12*1.5

CA-AD0117 8K0 407 693T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0118

CA-AD0108K

CA-AD0107K

CA-AD0110K

CA-AD0109K

CA-AD0120K

CA-AD0119K

CA-AD0121K

CA-AD0122K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / Ø 17 / M14*1.5

CA-AD0123 8K0 505 323F CONTROL ARM

CA-AD0124

CA-AD0123K

CA-AD0124K 8K0 505 324F CONTROL ARM

BJ-AD0017 4G0 407 689 BALL JOINT /  Ø 17

BJ-AD0015 8K0 407 689F BALL JOINT /  Ø 13.8

BJ-AD0017K

BJ-AD0015K

AUDI 2007-2016A5  (8T)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM

CA-AD0125 8K0 501 529K CONTROL ARM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2007-2016AUDI A5  (8T)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A5 (8T)             2007-2016

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM

CA-AD0125 8K0 501 529K CONTROL ARM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2007-2016AUDI A5  (8T)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0146

RB-AD0174

CA-AD0001 CA-AD0002

CA-AD0002 4A0 407 152 CONTROL ARM

CA-AD0001 4A0 407 151 CONTROL ARM

CA-AD0002K

CA-AD0001K

1994-1997

1990-1994AUDI A6 
100  (C4)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-AD0125 CA-AD0126 SL-AD0055

AJ-AD0001 TE-AD0039 TE-AD0040 RE-AD0021

SL-AD0057

CA-AD0126 8K0 501 530K CONTROL ARM

CA-AD0125 8K0 501 529K CONTROL ARM

SL-AD0057

CA-AD0126K

SL-AD0055

SL-AD0057K

SL-AD0055K 4G0 411 317A STABILIZER LINK / ALUMINUM L:170mm

CA-AD0125K

8K0 411 317D STABILIZER LINK / PLASTIC L:170mm

AJ-AD0001 8K0 505 365B AXLE JOINT

TE-AD0039 8K0 422 817A TIE ROD END / M16*1.5

RE-AD0021 8J0 423 810 RACK END / M16*1.5

TE-AD0040 8K0 422 818A TIE ROD END / M16*1.5

2007-2016AUDI A5  (8T)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A5 (8T)             2007-2016

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0146

RB-AD0174

CA-AD0001 CA-AD0002

CA-AD0002 4A0 407 152 CONTROL ARM

CA-AD0001 4A0 407 151 CONTROL ARM

CA-AD0002K

CA-AD0001K

1994-1997

1990-1994AUDI A6 
100  (C4)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0146

RB-AD0174

CA-AD0001 CA-AD0002

CA-AD0002 4A0 407 152 CONTROL ARM

CA-AD0001 4A0 407 151 CONTROL ARM

CA-AD0002K

CA-AD0001K

1994-1997

1990-1994AUDI A6 
100  (C4)

RT NO.RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0301 RB-AD0147RB-AD0148RB-AD0148RB-AD0390

CA-AD0025 CA-AD0026 CA-AD0027

CA-AD0021 CA-AD0022 CA-AD0031

CA-AD0028

CA-AD0035

SL-AD0019

TE-AD0015

SL-AD0020 SL-AD0025 TE-AD0015/EN

RE-AD0005 TE-AD0019 RE-AD0009

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0035 4B3 407 151F CONTROL ARM / ALUMINUM / ONLY FOR 8 CYLIDE

CA-AD0031 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0020 8D0 411 318D STABILIZER LINK / ALUMINUM

SL-AD0019

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0035K

CA-AD0031K

SL-AD0020K

SL-AD0019K 8D0 411 317D STABILIZER LINK / ALUMINUM

TE-AD0015/EN

SL-AD0025 8E0 505 465D STABILIZER LINK

8E0 419 811B TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0015 8E0 419 811B TIE ROD END / M14x1.5 RHT

TE-AD0019 8E0 419 811 TIE ROD END / M14x1.5 RHT

RE-AD0009

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

4F0 422 821 RACK END / M14x1.5 RHT

CA-AD0030

CA-AD0029 4D0 407 693N CONTROL ARM / ALUMINUM

4D0 407 694N CONTROL ARM / ALUMINUMCA-AD0030K

CA-AD0029K

Enhance design Enhance design Enhance design

AUDI 1997-2004A6  (C5)
2000-2005ALLROOD

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI          
A6
100 

1994
1997

www.euromotors.com.uy

(C4)



RT NO.RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0301 RB-AD0147RB-AD0148RB-AD0148RB-AD0390

CA-AD0025 CA-AD0026 CA-AD0027

CA-AD0021 CA-AD0022 CA-AD0031

CA-AD0028

CA-AD0035

SL-AD0019

TE-AD0015

SL-AD0020 SL-AD0025 TE-AD0015/EN

RE-AD0005 TE-AD0019 RE-AD0009

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0035 4B3 407 151F CONTROL ARM / ALUMINUM / ONLY FOR 8 CYLIDE

CA-AD0031 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0020 8D0 411 318D STABILIZER LINK / ALUMINUM

SL-AD0019

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0035K

CA-AD0031K

SL-AD0020K

SL-AD0019K 8D0 411 317D STABILIZER LINK / ALUMINUM

TE-AD0015/EN

SL-AD0025 8E0 505 465D STABILIZER LINK

8E0 419 811B TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0015 8E0 419 811B TIE ROD END / M14x1.5 RHT

TE-AD0019 8E0 419 811 TIE ROD END / M14x1.5 RHT

RE-AD0009

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

4F0 422 821 RACK END / M14x1.5 RHT

CA-AD0030

CA-AD0029 4D0 407 693N CONTROL ARM / ALUMINUM

4D0 407 694N CONTROL ARM / ALUMINUMCA-AD0030K

CA-AD0029K

Enhance design Enhance design Enhance design

AUDI 1997-2004A6  (C5)
2000-2005ALLROOD

RT NO.RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149 RB-AD0149

RB-AD0301 RB-AD0147RB-AD0148RB-AD0148RB-AD0390

CA-AD0025 CA-AD0026 CA-AD0027

CA-AD0021 CA-AD0022 CA-AD0031

CA-AD0028

CA-AD0035

SL-AD0019

TE-AD0015

SL-AD0020 SL-AD0025 TE-AD0015/EN

RE-AD0005 TE-AD0019 RE-AD0009

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0028 8E0 407 506A CONTROL ARM / ALUMINUM

CA-AD0027 8E0 407 505A CONTROL ARM / ALUMINUM

CA-AD0035 4B3 407 151F CONTROL ARM / ALUMINUM / ONLY FOR 8 CYLIDE

CA-AD0031 8E0 407 151M CONTROL ARM / ALUMINUM

SL-AD0020 8D0 411 318D STABILIZER LINK / ALUMINUM

SL-AD0019

CA-AD0026K

CA-AD0025K

CA-AD0028K

CA-AD0027K

CA-AD0035K

CA-AD0031K

SL-AD0020K

SL-AD0019K 8D0 411 317D STABILIZER LINK / ALUMINUM

TE-AD0015/EN

SL-AD0025 8E0 505 465D STABILIZER LINK

8E0 419 811B TIE ROD END / M14x1.5 RHT / Enhanced

TE-AD0015 8E0 419 811B TIE ROD END / M14x1.5 RHT

TE-AD0019 8E0 419 811 TIE ROD END / M14x1.5 RHT

RE-AD0009

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

4F0 422 821 RACK END / M14x1.5 RHT

CA-AD0030

CA-AD0029 4D0 407 693N CONTROL ARM / ALUMINUM

4D0 407 694N CONTROL ARM / ALUMINUMCA-AD0030K

CA-AD0029K

Enhance design Enhance design Enhance design

AUDI 1997-2004A6  (C5)
2000-2005ALLROOD

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0148 RB-AD0301

RB-AD0584 RB-AD0584

RB-AD0583 RB-AD0582RB-AD0581

CA-AD0047 CA-AD0048 CA-AD0049

CA-AD0053

CA-AD0181

CA-AD0054 CA-AD0051 CA-AD00741

CA-AD0050

CA-AD0183 SL-AD0033 SL-AD0035

TE-AD0019 RE-AD0009

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0181

CA-AD0054 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0053 4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0051 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 501 529C CONTROL ARM

CA-AD0183 4F0 505 323E CONTROL ARM

SL-AD0033

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0181K

CA-AD0054K

CA-AD0053K

CA-AD0051K

CA-AD0071 4Z7 407 151C CONTROL ARM / ALUMINUMCA-AD0071K

CA-AD0183K
4E0 411 317E STABILIZER LINK / ALUMINUM

TE-AD0019 8E0 419 811 TIE ROD END / M 14x1.5 RHT

SL-AD0035 4F0 505 465N STABILIZER LINK / PLASTIC

RE-AD0009 4F0 422 821 RACK END

AUDI 2004-2011 (C6)A6 1994
1997

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI         

www.euromotors.com.uy

AUDI           A6        
(C5)
ALLROOD

1997-2004
2000-2005



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0148 RB-AD0301

RB-AD0584 RB-AD0584

RB-AD0583 RB-AD0582RB-AD0581

CA-AD0047 CA-AD0048 CA-AD0049

CA-AD0053

CA-AD0181

CA-AD0054 CA-AD0051 CA-AD00741

CA-AD0050

CA-AD0183 SL-AD0033 SL-AD0035

TE-AD0019 RE-AD0009

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0181

CA-AD0054 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0053 4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0051 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 501 529C CONTROL ARM

CA-AD0183 4F0 505 323E CONTROL ARM

SL-AD0033

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0181K

CA-AD0054K

CA-AD0053K

CA-AD0051K

CA-AD0071 4Z7 407 151C CONTROL ARM / ALUMINUMCA-AD0071K

CA-AD0183K
4E0 411 317E STABILIZER LINK / ALUMINUM

TE-AD0019 8E0 419 811 TIE ROD END / M 14x1.5 RHT

SL-AD0035 4F0 505 465N STABILIZER LINK / PLASTIC

RE-AD0009 4F0 422 821 RACK END

AUDI 2004-2011 (C6)A6 

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0148 RB-AD0301

RB-AD0584 RB-AD0584

RB-AD0583 RB-AD0582RB-AD0581

CA-AD0047 CA-AD0048 CA-AD0049

CA-AD0053

CA-AD0181

CA-AD0054 CA-AD0051 CA-AD00741

CA-AD0050

CA-AD0183 SL-AD0033 SL-AD0035

TE-AD0019 RE-AD0009

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0181

CA-AD0054 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0053 4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0051 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 501 529C CONTROL ARM

CA-AD0183 4F0 505 323E CONTROL ARM

SL-AD0033

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0181K

CA-AD0054K

CA-AD0053K

CA-AD0051K

CA-AD0071 4Z7 407 151C CONTROL ARM / ALUMINUMCA-AD0071K

CA-AD0183K
4E0 411 317E STABILIZER LINK / ALUMINUM

TE-AD0019 8E0 419 811 TIE ROD END / M 14x1.5 RHT

SL-AD0035 4F0 505 465N STABILIZER LINK / PLASTIC

RE-AD0009 4F0 422 821 RACK END

AUDI 2004-2011 (C6)A6 

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A6 (C6)             2004-2011

www.euromotors.com.uy

1997-2004
2000-2005



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0103 RB-AD0103

RB-AD0011
RB-AD0582

RB-AD0027

CA-AD0107

CA-AD0141

CA-AD0108 CA-AD0109 CA-AD0110

CA-AD0122

SL-AD0057SL-AD0055 TE-AD0043

CA-AD0142 CA-AD0121

BJ-AD0021

TE-AD0044 RE-AD0025

CA-AD0108 8K0 407 510A CONTROL ARM

CA-AD0107 8K 0 407 509A CONTROL ARM

CA-AD0122 8K0 407 152F CONTROL ARM / Ø17.2

CA-AD0109 8K0 407 505A CONTROL ARM

CA-AD0142 4G0 407 694D CONTROL ARM 

CA-AD0141

CA-AD0110 8K0 407 506A CONTROL ARM

CA-AD0121 8K0 407 151F CONTROL ARM / Ø17.2

4G0 407 693D CONTROL ARM 

CA-AD0108K

CA-AD0107K

CA-AD0122K

CA-AD0109K

CA-AD0142K

CA-AD0141K

CA-AD0110K

CA-AD0121K

BJ-AD0021 8W0 407 689A BALL JOINT / Ø 17.2BJ-AD0021K

SL-AD0055 4G0 411 317A STABILIZER LINK / ALUMINIUM

SL-AD0057

SL-AD0055K

SL-AD0057K 8K0 411 317D STABILIZER LINK / PLASTIC

TE-AD0043 4G0 423 811A TIE ROD END

RE-AD0025 4G0 423 810A RACK END 

TE-AD0044 4G0 423 812A TIE ROD END

2011-2018A6AUDI   (C7)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0103 RB-AD0103

RB-AD0011
RB-AD0582

RB-AD0027

CA-AD0107

CA-AD0141

CA-AD0108 CA-AD0109 CA-AD0110

CA-AD0122

SL-AD0057SL-AD0055 TE-AD0043

CA-AD0142 CA-AD0121

BJ-AD0021

TE-AD0044 RE-AD0025

CA-AD0108 8K0 407 510A CONTROL ARM

CA-AD0107 8K 0 407 509A CONTROL ARM

CA-AD0122 8K0 407 152F CONTROL ARM / Ø17.2

CA-AD0109 8K0 407 505A CONTROL ARM

CA-AD0142 4G0 407 694D CONTROL ARM 

CA-AD0141

CA-AD0110 8K0 407 506A CONTROL ARM

CA-AD0121 8K0 407 151F CONTROL ARM / Ø17.2

4G0 407 693D CONTROL ARM 

CA-AD0108K

CA-AD0107K

CA-AD0122K

CA-AD0109K

CA-AD0142K

CA-AD0141K

CA-AD0110K

CA-AD0121K

BJ-AD0021 8W0 407 689A BALL JOINT / Ø 17.2BJ-AD0021K

SL-AD0055 4G0 411 317A STABILIZER LINK / ALUMINIUM

SL-AD0057

SL-AD0055K

SL-AD0057K 8K0 411 317D STABILIZER LINK / PLASTIC

TE-AD0043 4G0 423 811A TIE ROD END

RE-AD0025 4G0 423 810A RACK END 

TE-AD0044 4G0 423 812A TIE ROD END

2011-2018A6AUDI   (C7)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A6 (C7)             2011-2018

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149

RB-AD0150
RB-AD0390

RB-AD0149

RB-AD0148 RB-AD0147RB-AD0223

CA-AD0016 4D0 407 510D CONTROL ARM / ALUMINUM

CA-AD0015 4D0 407 509D CONTROL ARM / ALUMINUM

CA-AD0016K

CA-AD0015K

CA-AD0015 CA-AD0016 CA-AD0025 CA-AD0026

CA-AD0021 CA-AD0035CA-AD0037

CA-AD0165 SL-AD0029

TE-AD0013/EN RE-AD0005

SL-AD0031

SL-AD0032 TE-AD0013

CA-AD0022
CA-AD0029 CA-AD0030

SL-AD0027

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

CA-AD0037

CA-AD0035 4B3 407 151F CONTROL ARM / ALUMINUM

4D0 407 505H CONTROL ARM / ALUMINUM

CA-AD0165 4D0 504 529F CONTROL ARM / ALUMINUM

SL-AD0027 SL-AD0027K

CA-AD0026K

CA-AD0025K

CA-AD0022K

CA-AD0021K

CA-AD0037K

CA-AD0035K

CA-AD0165K

4D0 411 317K STABILIZER LINK / ALUMINUM

SL-AD0029 4D0 505 465D STABILIZER LINK

SL-AD0031 4D0 505 547C STABILIZER LINK

SL-AD0032 4D0 505 548C STABILIZER LINK

TE-AD0013/EN 4B0 419 811E TIE ROD END / M14x1.5 RHT / Enhanced

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

CA-AD0030

CA-AD0029 8E0 407 693P CONTROL ARM / ALUMINUM

8E0 407 694P CONTROL ARM / ALUMINUMCA-AD0030K

CA-AD0029K

AUDI 1994-2002A8  (4D)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0149

RB-AD0150
RB-AD0390

RB-AD0149

RB-AD0148 RB-AD0147RB-AD0223

CA-AD0016 4D0 407 510D CONTROL ARM / ALUMINUM

CA-AD0015 4D0 407 509D CONTROL ARM / ALUMINUM

CA-AD0016K

CA-AD0015K

CA-AD0015 CA-AD0016 CA-AD0025 CA-AD0026

CA-AD0021 CA-AD0035CA-AD0037

CA-AD0165 SL-AD0029

TE-AD0013/EN RE-AD0005

SL-AD0031

SL-AD0032 TE-AD0013

CA-AD0022
CA-AD0029 CA-AD0030

SL-AD0027

CA-AD0026 8E0 407 510A CONTROL ARM / ALUMINUM

CA-AD0025 8E0 407 509A CONTROL ARM / ALUMINUM

CA-AD0022 4D0 407 694N CONTROL ARM / ALUMINUM

CA-AD0021 4D0 407 693N CONTROL ARM / ALUMINUM

CA-AD0037

CA-AD0035 4B3 407 151F CONTROL ARM / ALUMINUM

4D0 407 505H CONTROL ARM / ALUMINUM

CA-AD0165 4D0 504 529F CONTROL ARM / ALUMINUM

SL-AD0027 SL-AD0027K

CA-AD0026K

CA-AD0025K

CA-AD0022K

CA-AD0021K

CA-AD0037K

CA-AD0035K

CA-AD0165K

4D0 411 317K STABILIZER LINK / ALUMINUM

SL-AD0029 4D0 505 465D STABILIZER LINK

SL-AD0031 4D0 505 547C STABILIZER LINK

SL-AD0032 4D0 505 548C STABILIZER LINK

TE-AD0013/EN 4B0 419 811E TIE ROD END / M14x1.5 RHT / Enhanced

RE-AD0005 4D0 422 821 RACK END / M14x1.5 RHT

CA-AD0030

CA-AD0029 8E0 407 693P CONTROL ARM / ALUMINUM

8E0 407 694P CONTROL ARM / ALUMINUMCA-AD0030K

CA-AD0029K

AUDI 1994-2002A8  (4D)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0584
RB-AD0584

RB-AD0581 RB-AD0582
RB-AD0585

CA-AD0049 CA-AD0050 CA-AD0047

CA-AD0055CA-AD0057 CA-AD0058

CA-AD0185 SL-AD0033 SL-AD0037

TE-AD0023 RE-AD0017

CA-AD0048

CA-AD0173

SL-AD0038

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0057

CA-AD0055 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0058 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0173 4E0 501 529D CONTROL ARM / ALUMINUM

SL-AD0033 SL-AD0033K 4E0 411 317E STABILIZER LINK / ALUMINUM

CA-AD0185

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0057K

CA-AD0055K

CA-AD0058K

CA-AD0173K

CA-AD0185K 4E0 505 323Q CONTROL ARM / ALUMINUM

RE-AD0005 4E0 419 821 RACK END / M 16x1.5 RHT

TE-AD0013 4E0 419 811D TIE ROD / M 16x1.5 RHT

SL-AD0037 4E0 505 547A STABILIZER LINK

SL-AD0038 4E0 505 548A STABILIZER LINK

AUDI 2002-2008A8  (4E)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A8 (4D)              1994-2002

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0584
RB-AD0584

RB-AD0581 RB-AD0582
RB-AD0585

CA-AD0049 CA-AD0050 CA-AD0047

CA-AD0055CA-AD0057 CA-AD0058

CA-AD0185 SL-AD0033 SL-AD0037

TE-AD0023 RE-AD0017

CA-AD0048

CA-AD0173

SL-AD0038

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0057

CA-AD0055 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0058 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0173 4E0 501 529D CONTROL ARM / ALUMINUM

SL-AD0033 SL-AD0033K 4E0 411 317E STABILIZER LINK / ALUMINUM

CA-AD0185

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0057K

CA-AD0055K

CA-AD0058K

CA-AD0173K

CA-AD0185K 4E0 505 323Q CONTROL ARM / ALUMINUM

RE-AD0005 4E0 419 821 RACK END / M 16x1.5 RHT

TE-AD0013 4E0 419 811D TIE ROD / M 16x1.5 RHT

SL-AD0037 4E0 505 547A STABILIZER LINK

SL-AD0038 4E0 505 548A STABILIZER LINK

AUDI 2002-2008A8  (4E)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0026 RB-AD0026

RB-AD0027 RB-AD0028
RB-AD0582

CA-AD0135 CA-AD0136 CA-AD0133 CA-AD0134

CA-AD0139 CA-AD0140

TE-AD0041

TE-AD0042

CA-AD0137 CA-AD0138

BJ-AD0019 SL-AD0055 SL-AD0057

RE-AD0023

CA-AD0134 4H0 407 506E CONTROL ARM

CA-AD0133 4H0 407 505E CONTROL ARM

CA-AD0136 4H0 407 510E CONTROL ARM

CA-AD0135 4H0 407 509E CONTROL ARM

CA-AD0138 4H0 407 694C CONTROL ARM

CA-AD0137 4H0 407 693C CONTROL ARM

CA-AD0140 4H0 407 152B CONTROL ARM / Ø18.1

CA-AD0139 4H0 407 151B CONTROL ARM / Ø18.1

SL-AD0055 8K0 411 317E STABILIZER LINK / ALUMINIUM

BJ-AD0019

CA-AD0134K

CA-AD0133K

CA-AD0136K

CA-AD0135K

CA-AD0138K

CA-AD0137K

CA-AD0140K

CA-AD0139K

BJ-AD0019K 4H0 407 689 BALL JOINT

SL-AD0057

SL-AD0055K

SL-AD0057K 8K0 411 317E STABILIZER LINK / PLASTIC

TE-AD0042 4H0 422 818A TIE ROD END

TE-AD0041 4H0 422 817A TIE ROD END

RE-AD0023 4G0 423 810A RACK END

2009>A8AUDI (4H)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0584
RB-AD0584

RB-AD0581 RB-AD0582
RB-AD0585

CA-AD0049 CA-AD0050 CA-AD0047

CA-AD0055CA-AD0057 CA-AD0058

CA-AD0185 SL-AD0033 SL-AD0037

TE-AD0023 RE-AD0017

CA-AD0048

CA-AD0173

SL-AD0038

CA-AD0048 4E0 407 506B CONTROL ARM / ALUMINUM

CA-AD0047 4E0 407 505B CONTROL ARM / ALUMINUM

CA-AD0050 4E0 407 510B CONTROL ARM / ALUMINUM

CA-AD0049 4E0 407 509B CONTROL ARM / ALUMINUM

CA-AD0057

CA-AD0055 4F0 407 151 CONTROL ARM / ALUMINUM

4F0 407 693B CONTROL ARM / ALUMINUM

CA-AD0058 4F0 407 694B CONTROL ARM / ALUMINUM

CA-AD0173 4E0 501 529D CONTROL ARM / ALUMINUM

SL-AD0033 SL-AD0033K 4E0 411 317E STABILIZER LINK / ALUMINUM

CA-AD0185

CA-AD0048K

CA-AD0047K

CA-AD0050K

CA-AD0049K

CA-AD0057K

CA-AD0055K

CA-AD0058K

CA-AD0173K

CA-AD0185K 4E0 505 323Q CONTROL ARM / ALUMINUM

RE-AD0005 4E0 419 821 RACK END / M 16x1.5 RHT

TE-AD0013 4E0 419 811D TIE ROD / M 16x1.5 RHT

SL-AD0037 4E0 505 547A STABILIZER LINK

SL-AD0038 4E0 505 548A STABILIZER LINK

AUDI 2002-2008A8  (4E)

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A8 (4E)             2002-2008

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0026 RB-AD0026

RB-AD0027 RB-AD0028
RB-AD0582

CA-AD0135 CA-AD0136 CA-AD0133 CA-AD0134

CA-AD0139 CA-AD0140

TE-AD0041

TE-AD0042

CA-AD0137 CA-AD0138

BJ-AD0019 SL-AD0055 SL-AD0057

RE-AD0023

CA-AD0134 4H0 407 506E CONTROL ARM

CA-AD0133 4H0 407 505E CONTROL ARM

CA-AD0136 4H0 407 510E CONTROL ARM

CA-AD0135 4H0 407 509E CONTROL ARM

CA-AD0138 4H0 407 694C CONTROL ARM

CA-AD0137 4H0 407 693C CONTROL ARM

CA-AD0140 4H0 407 152B CONTROL ARM / Ø18.1

CA-AD0139 4H0 407 151B CONTROL ARM / Ø18.1

SL-AD0055 8K0 411 317E STABILIZER LINK / ALUMINIUM

BJ-AD0019

CA-AD0134K

CA-AD0133K

CA-AD0136K

CA-AD0135K

CA-AD0138K

CA-AD0137K

CA-AD0140K

CA-AD0139K

BJ-AD0019K 4H0 407 689 BALL JOINT

SL-AD0057

SL-AD0055K

SL-AD0057K 8K0 411 317E STABILIZER LINK / PLASTIC

TE-AD0042 4H0 422 818A TIE ROD END

TE-AD0041 4H0 422 817A TIE ROD END

RE-AD0023 4G0 423 810A RACK END

2009>A8AUDI (4H)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0026 RB-AD0026

RB-AD0027 RB-AD0028
RB-AD0582

CA-AD0135 CA-AD0136 CA-AD0133 CA-AD0134

CA-AD0139 CA-AD0140

TE-AD0041

TE-AD0042

CA-AD0137 CA-AD0138

BJ-AD0019 SL-AD0055 SL-AD0057

RE-AD0023

CA-AD0134 4H0 407 506E CONTROL ARM

CA-AD0133 4H0 407 505E CONTROL ARM

CA-AD0136 4H0 407 510E CONTROL ARM

CA-AD0135 4H0 407 509E CONTROL ARM

CA-AD0138 4H0 407 694C CONTROL ARM

CA-AD0137 4H0 407 693C CONTROL ARM

CA-AD0140 4H0 407 152B CONTROL ARM / Ø18.1

CA-AD0139 4H0 407 151B CONTROL ARM / Ø18.1

SL-AD0055 8K0 411 317E STABILIZER LINK / ALUMINIUM

BJ-AD0019

CA-AD0134K

CA-AD0133K

CA-AD0136K

CA-AD0135K

CA-AD0138K

CA-AD0137K

CA-AD0140K

CA-AD0139K

BJ-AD0019K 4H0 407 689 BALL JOINT

SL-AD0057

SL-AD0055K

SL-AD0057K 8K0 411 317E STABILIZER LINK / PLASTIC

TE-AD0042 4H0 422 818A TIE ROD END

TE-AD0041 4H0 422 817A TIE ROD END

RE-AD0023 4G0 423 810A RACK END

2009>A8AUDI (4H)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0007

CA-AD0143 BJ-AD0005 BJ-AD0006 AK-AD0007

RE-AD0015TE-AD0033 TE-AD0034

BJ-AD0005 1K0 407 365E BALL JOINT

CA-AD0143 3C0 407 151H CONTROL ARM

AK-AD0007 3C0 199 231F ARM SUPPORT

BJ-AD0006 1K0 407 366E BALL JOINT

TE-AD0034 4H0 407 694C TIE ROD END

TE-AD0033 4H0 407 693C TIE ROD END

RE-AD0015 4H0 407 151B RACK END

BJ-AD0005K

3C0 407 151H CONTROL ARM

CA-AD0143K

CA-AD0143 CA-AD0144K

AK-AD0007K

BJ-AD0006K

2015-Q3AUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           A8 (4H)             2009>

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0007

CA-AD0143 BJ-AD0005 BJ-AD0006 AK-AD0007

RE-AD0015TE-AD0033 TE-AD0034

BJ-AD0005 1K0 407 365E BALL JOINT

CA-AD0143 3C0 407 151H CONTROL ARM

AK-AD0007 3C0 199 231F ARM SUPPORT

BJ-AD0006 1K0 407 366E BALL JOINT

TE-AD0034 4H0 407 694C TIE ROD END

TE-AD0033 4H0 407 693C TIE ROD END

RE-AD0015 4H0 407 151B RACK END

BJ-AD0005K

3C0 407 151H CONTROL ARM

CA-AD0143K

CA-AD0143 CA-AD0144K

AK-AD0007K

BJ-AD0006K

2015-Q3AUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013
RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0017 RB-AD0017

CA-AD0109 CA-AD0110 CA-AD0107 CA-AD0108

CA-AD0117 CA-AD0118

BJ-AD0017 SL-AD0055CA-AD0119 CA-AD0120

CA-AD0111 CA-AD0112

RE-AD0021TE-AD0039 TE-AD0040

CA-AD0110 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0119 8K0 407 151C CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120 8K0 407 152C CONTROL ARM / ALUMINUM

CA-AD0108 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM

SL-AD0055 4G0 411 317A STABILIZER LINK

CA-AD0118

CA-AD0110K

CA-AD0109K

CA-AD0119K

CA-AD0107K

CA-AD0120K

CA-AD0108K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM

BJ-AD0017 BJ-AD0017K 4G0 407 689 BALL JOINT / Ø17.2

TE-AD0040 8K0 422 818A TIE ROD END / M16x1.5 RHT

TE-AD0039 8K0 422 817A TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 RHT

AUDI 2008-2017Q5  (8R)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0007

AK-AD0007

CA-AD0143 BJ-AD0005 BJ-AD0006 AK-AD0007

RE-AD0015TE-AD0033 TE-AD0034

BJ-AD0005 1K0 407 365E BALL JOINT

CA-AD0143 3C0 407 151H CONTROL ARM

AK-AD0007 3C0 199 231F ARM SUPPORT

BJ-AD0006 1K0 407 366E BALL JOINT

TE-AD0034 4H0 407 694C TIE ROD END

TE-AD0033 4H0 407 693C TIE ROD END

RE-AD0015 4H0 407 151B RACK END

BJ-AD0005K

3C0 407 151H CONTROL ARM

CA-AD0143K

CA-AD0143 CA-AD0144K

AK-AD0007K

BJ-AD0006K

2015-Q3AUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           Q3               2015

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013
RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0017 RB-AD0017

CA-AD0109 CA-AD0110 CA-AD0107 CA-AD0108

CA-AD0117 CA-AD0118

BJ-AD0017 SL-AD0055CA-AD0119 CA-AD0120

CA-AD0111 CA-AD0112

RE-AD0021TE-AD0039 TE-AD0040

CA-AD0110 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0119 8K0 407 151C CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120 8K0 407 152C CONTROL ARM / ALUMINUM

CA-AD0108 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM

SL-AD0055 4G0 411 317A STABILIZER LINK

CA-AD0118

CA-AD0110K

CA-AD0109K

CA-AD0119K

CA-AD0107K

CA-AD0120K

CA-AD0108K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM

BJ-AD0017 BJ-AD0017K 4G0 407 689 BALL JOINT / Ø17.2

TE-AD0040 8K0 422 818A TIE ROD END / M16x1.5 RHT

TE-AD0039 8K0 422 817A TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 RHT

AUDI 2008-2017Q5  (8R)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0013
RB-AD0013

RB-AD0011
RB-AD0582

RB-AD0017 RB-AD0017

CA-AD0109 CA-AD0110 CA-AD0107 CA-AD0108

CA-AD0117 CA-AD0118

BJ-AD0017 SL-AD0055CA-AD0119 CA-AD0120

CA-AD0111 CA-AD0112

RE-AD0021TE-AD0039 TE-AD0040

CA-AD0110 8K0 407 510A CONTROL ARM / ALUMINUM

CA-AD0109 8K0 407 509A CONTROL ARM / ALUMINUM

CA-AD0119 8K0 407 151C CONTROL ARM / ALUMINUM

CA-AD0107 8K0 407 505A CONTROL ARM / ALUMINUM

CA-AD0120 8K0 407 152C CONTROL ARM / ALUMINUM

CA-AD0108 8K0 407 506A CONTROL ARM / ALUMINUM

CA-AD0112 8K0 407 694K CONTROL ARM / ALUMINUM

CA-AD0111 8K0 407 693K CONTROL ARM / ALUMINUM

CA-AD0117 8K0 407 693T CONTROL ARM / ALUMINUM

SL-AD0055 4G0 411 317A STABILIZER LINK

CA-AD0118

CA-AD0110K

CA-AD0109K

CA-AD0119K

CA-AD0107K

CA-AD0120K

CA-AD0108K

CA-AD0112K

CA-AD0111K

CA-AD0117K

CA-AD0118K 8K0 407 694T CONTROL ARM / ALUMINUM

BJ-AD0017 BJ-AD0017K 4G0 407 689 BALL JOINT / Ø17.2

TE-AD0040 8K0 422 818A TIE ROD END / M16x1.5 RHT

TE-AD0039 8K0 422 817A TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 RHT

AUDI 2008-2017Q5  (8R)

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0577

RB-VW0587

RB-VW0587

RB-VW0588

RB-VW0588

RB-AD0063

RB-AD0063

CA-AD0059

CA-AD0146

CA-AD0129 CA-AD0130 CA-AD0145

CA-AD0187

CA-AD0189 SL-AD0061

SL-AD0062

CA-AD0065 CA-AD0066

CA-AD0190

RE-AD0013

SL-AD0039

TE-AD0031 TE-AD0032

CA-AD0129 7P0 407 151C CONTROL ARM / ALUMINUM

CONTROL ARM

CA-AD0065 7L0 505 311B CONTROL ARM

CA-AD0130 7P0 407 152C CONTROL ARM / ALUMINUM

CA-AD0187 7L0 505 323A CONTROL ARM

CA-AD0066 7L0 505 312B CONTROL ARM

CA-AD0190 7L0 505 398 CONTROL ARM

CA-AD0189

CA-AD0075 7L8 407 151E CONTROL ARM / CASTING

CA-AD0076

CA-AD0129K

CA-AD0065K

CA-AD0130K

CA-AD0187K

CA-AD0066K

CA-AD0190K

CA-AD0189K

CA-AD0075K

CA-AD0076K 7L8 407 152E CONTROL ARM / CASTING

7L0 505 397 CONTROL ARM

SL-AD0061 7L0 505 465C STABILIZER LINK 

SL-AD0039 7L0 411 317 STABILIZER LINK

TE-AD0031 7L0 422 817B TIE ROD END / M16x1.5 RHT

SL-AD0062 7L0 505 466C STABILIZER LINK 

RE-AD0013 7L0 422 821D RACK END / M16x1.5 RHT

TE-AD0032 7L0 422 818B TIE ROD END / M16x1.5 RHT

CA-AD0059 7P0 407 021ACA-AD0059K

2005-2015(4L)Q7AUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           Q5 8R               2008-2017

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0577

RB-VW0587

RB-VW0587

RB-VW0588

RB-VW0588

RB-AD0063

RB-AD0063

CA-AD0059

CA-AD0146

CA-AD0129 CA-AD0130 CA-AD0145

CA-AD0187

CA-AD0189 SL-AD0061

SL-AD0062

CA-AD0065 CA-AD0066

CA-AD0190

RE-AD0013

SL-AD0039

TE-AD0031 TE-AD0032

CA-AD0129 7P0 407 151C CONTROL ARM / ALUMINUM

CONTROL ARM

CA-AD0065 7L0 505 311B CONTROL ARM

CA-AD0130 7P0 407 152C CONTROL ARM / ALUMINUM

CA-AD0187 7L0 505 323A CONTROL ARM

CA-AD0066 7L0 505 312B CONTROL ARM

CA-AD0190 7L0 505 398 CONTROL ARM

CA-AD0189

CA-AD0075 7L8 407 151E CONTROL ARM / CASTING

CA-AD0076

CA-AD0129K

CA-AD0065K

CA-AD0130K

CA-AD0187K

CA-AD0066K

CA-AD0190K

CA-AD0189K

CA-AD0075K

CA-AD0076K 7L8 407 152E CONTROL ARM / CASTING

7L0 505 397 CONTROL ARM

SL-AD0061 7L0 505 465C STABILIZER LINK 

SL-AD0039 7L0 411 317 STABILIZER LINK

TE-AD0031 7L0 422 817B TIE ROD END / M16x1.5 RHT

SL-AD0062 7L0 505 466C STABILIZER LINK 

RE-AD0013 7L0 422 821D RACK END / M16x1.5 RHT

TE-AD0032 7L0 422 818B TIE ROD END / M16x1.5 RHT

CA-AD0059 7P0 407 021ACA-AD0059K

2005-2015(4L)Q7AUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0045

RB-AD0046
RB-AD0047 RB-AD0048

RB-AD0045

CA-AD0219 4M0 407 505C

CA-AD0219 CA-AD0220 CA-AD0221 CA-AD0222

CA-AD0226

BJ-AD0031 RE-AD0031

CA-AD0224CA-AD0223 CA-AD0225

SL-AD0077 TE-AD0053

CA-AD0222 4M0 407 510C CONTROL ARM

CONTROL ARM 

CA-AD0224 4M0 407 694C CONTROL ARM

CA-AD0223 4M0 407 693C CONTROL ARM

CA-AD0226 4M0 407 152F CONTROL ARM

CA-AD0225 4M0 407 151F CONTROL ARM

SL-AD0077 4M0 411 317

BJ-AD0031

CA-AD0220 4M0 407 506C CONTROL ARM 

CA-AD0221

CA-AD0219K

CA-AD0222K

CA-AD0224K

CA-AD0223K

CA-AD0226K

CA-AD0225K

BJ-AD0031K

CA-AD0220K

CA-AD0221K 4M0 407 509C CONTROL ARM

4M0 407 689B CONTROL ARM

RE-AD0031 4M0 423 810C

TE-AD0053 4M0 423 811B

STABILIZER LINK

TIE ROD END

RACK END

2015-(4M)Q7AUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0577

RB-VW0587

RB-VW0587

RB-VW0588

RB-VW0588

RB-AD0063

RB-AD0063

CA-AD0059

CA-AD0146

CA-AD0129 CA-AD0130 CA-AD0145

CA-AD0187

CA-AD0189 SL-AD0061

SL-AD0062

CA-AD0065 CA-AD0066

CA-AD0190

RE-AD0013

SL-AD0039

TE-AD0031 TE-AD0032

CA-AD0129 7P0 407 151C CONTROL ARM / ALUMINUM

CONTROL ARM

CA-AD0065 7L0 505 311B CONTROL ARM

CA-AD0130 7P0 407 152C CONTROL ARM / ALUMINUM

CA-AD0187 7L0 505 323A CONTROL ARM

CA-AD0066 7L0 505 312B CONTROL ARM

CA-AD0190 7L0 505 398 CONTROL ARM

CA-AD0189

CA-AD0075 7L8 407 151E CONTROL ARM / CASTING

CA-AD0076

CA-AD0129K

CA-AD0065K

CA-AD0130K

CA-AD0187K

CA-AD0066K

CA-AD0190K

CA-AD0189K

CA-AD0075K

CA-AD0076K 7L8 407 152E CONTROL ARM / CASTING

7L0 505 397 CONTROL ARM

SL-AD0061 7L0 505 465C STABILIZER LINK 

SL-AD0039 7L0 411 317 STABILIZER LINK

TE-AD0031 7L0 422 817B TIE ROD END / M16x1.5 RHT

SL-AD0062 7L0 505 466C STABILIZER LINK 

RE-AD0013 7L0 422 821D RACK END / M16x1.5 RHT

TE-AD0032 7L0 422 818B TIE ROD END / M16x1.5 RHT

CA-AD0059 7P0 407 021ACA-AD0059K

2005-2015(4L)Q7AUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           Q7 (4L)             2005-2015

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0045

RB-AD0046
RB-AD0047 RB-AD0048

RB-AD0045

CA-AD0219 4M0 407 505C

CA-AD0219 CA-AD0220 CA-AD0221 CA-AD0222

CA-AD0226

BJ-AD0031 RE-AD0031

CA-AD0224CA-AD0223 CA-AD0225

SL-AD0077 TE-AD0053

CA-AD0222 4M0 407 510C CONTROL ARM

CONTROL ARM 

CA-AD0224 4M0 407 694C CONTROL ARM

CA-AD0223 4M0 407 693C CONTROL ARM

CA-AD0226 4M0 407 152F CONTROL ARM

CA-AD0225 4M0 407 151F CONTROL ARM

SL-AD0077 4M0 411 317

BJ-AD0031

CA-AD0220 4M0 407 506C CONTROL ARM 

CA-AD0221

CA-AD0219K

CA-AD0222K

CA-AD0224K

CA-AD0223K

CA-AD0226K

CA-AD0225K

BJ-AD0031K

CA-AD0220K

CA-AD0221K 4M0 407 509C CONTROL ARM

4M0 407 689B CONTROL ARM

RE-AD0031 4M0 423 810C

TE-AD0053 4M0 423 811B

STABILIZER LINK

TIE ROD END

RACK END

2015-(4M)Q7AUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0045

RB-AD0046
RB-AD0047 RB-AD0048

RB-AD0045

CA-AD0219 4M0 407 505C

CA-AD0219 CA-AD0220 CA-AD0221 CA-AD0222

CA-AD0226

BJ-AD0031 RE-AD0031

CA-AD0224CA-AD0223 CA-AD0225

SL-AD0077 TE-AD0053

CA-AD0222 4M0 407 510C CONTROL ARM

CONTROL ARM 

CA-AD0224 4M0 407 694C CONTROL ARM

CA-AD0223 4M0 407 693C CONTROL ARM

CA-AD0226 4M0 407 152F CONTROL ARM

CA-AD0225 4M0 407 151F CONTROL ARM

SL-AD0077 4M0 411 317

BJ-AD0031

CA-AD0220 4M0 407 506C CONTROL ARM 

CA-AD0221

CA-AD0219K

CA-AD0222K

CA-AD0224K

CA-AD0223K

CA-AD0226K

CA-AD0225K

BJ-AD0031K

CA-AD0220K

CA-AD0221K 4M0 407 509C CONTROL ARM

4M0 407 689B CONTROL ARM

RE-AD0031 4M0 423 810C

TE-AD0053 4M0 423 811B

STABILIZER LINK

TIE ROD END

RACK END

2015-(4M)Q7AUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

RB-AD0001

CA-AD0069 CA-AD0070 BJ-AD0007 SL-AD0013

SL-AD0014 TE-AD0027 TE-AD0028 RE-AD0019

CA-AD0070 8N0 407 152A CONTROL ARM / STEAL FORGED

CA-AD0069 8N0 407 151A CONTROL ARM / STEAL FORGED

SL-AD0013 1J0 411 315D STABILIZER LINK

BJ-AD0007

CA-AD0070K

CA-AD0069K

BJ-AD0007K 8N0 407 365A BALL JOINT

TE-AD0027

SL-AD0014 1J0 411 316D STABILIZER LINK

8N0 422 811A TIE ROD END

TE-AD0028 8N0 422 812A TIE ROD END

RE-AD0019 8N0 422 807 RACK END / M16x1.5 RHT

1999>2006TT  IAUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           Q7 (4M)              2015

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

RB-AD0001

CA-AD0069 CA-AD0070 BJ-AD0007 SL-AD0013

SL-AD0014 TE-AD0027 TE-AD0028 RE-AD0019

CA-AD0070 8N0 407 152A CONTROL ARM / STEAL FORGED

CA-AD0069 8N0 407 151A CONTROL ARM / STEAL FORGED

SL-AD0013 1J0 411 315D STABILIZER LINK

BJ-AD0007

CA-AD0070K

CA-AD0069K

BJ-AD0007K 8N0 407 365A BALL JOINT

TE-AD0027

SL-AD0014 1J0 411 316D STABILIZER LINK

8N0 422 811A TIE ROD END

TE-AD0028 8N0 422 812A TIE ROD END

RE-AD0019 8N0 422 807 RACK END / M16x1.5 RHT

1999>2006TT  IAUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

AK-AD0003

CA-AD0079 BJ-AD0011

SL-AD0045 SL-AD0047

BJ-AD0012 AK-AD0003

TE-AD0035 TE-AD0036

RE-AD0021

8J0 407 151D CONTROL ARM

CA-AD0079

CA-AD0079

8J0 407 151D CONTROL ARM

AK-AD0003 AK-AD0003K 8J0 199 231 ARM SUPPORT

BJ-AD0011

CA-AD0080K

CA-AD0079K

BJ-AD0011K 8J0 407 365 BALL JOINT

BJ-AD0012 BJ-AD0012K 8J0 407 366 BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

TE-AD0035 8J0 423 811 TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 / RHT

TE-AD0036 8J0 423 812 TIE ROD END / M16x1.5 RHT

2006>TT  IIAUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

RB-AD0001

CA-AD0069 CA-AD0070 BJ-AD0007 SL-AD0013

SL-AD0014 TE-AD0027 TE-AD0028 RE-AD0019

CA-AD0070 8N0 407 152A CONTROL ARM / STEAL FORGED

CA-AD0069 8N0 407 151A CONTROL ARM / STEAL FORGED

SL-AD0013 1J0 411 315D STABILIZER LINK

BJ-AD0007

CA-AD0070K

CA-AD0069K

BJ-AD0007K 8N0 407 365A BALL JOINT

TE-AD0027

SL-AD0014 1J0 411 316D STABILIZER LINK

8N0 422 811A TIE ROD END

TE-AD0028 8N0 422 812A TIE ROD END

RE-AD0019 8N0 422 807 RACK END / M16x1.5 RHT

1999>2006TT  IAUDI

www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

AUDI           TT I                1999>2006



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

AK-AD0003

CA-AD0079 BJ-AD0011

SL-AD0045 SL-AD0047

BJ-AD0012 AK-AD0003

TE-AD0035 TE-AD0036

RE-AD0021

8J0 407 151D CONTROL ARM

CA-AD0079

CA-AD0079

8J0 407 151D CONTROL ARM

AK-AD0003 AK-AD0003K 8J0 199 231 ARM SUPPORT

BJ-AD0011

CA-AD0080K

CA-AD0079K

BJ-AD0011K 8J0 407 365 BALL JOINT

BJ-AD0012 BJ-AD0012K 8J0 407 366 BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

TE-AD0035 8J0 423 811 TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 / RHT

TE-AD0036 8J0 423 812 TIE ROD END / M16x1.5 RHT

2006>TT  IIAUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0025

AK-AD0003

CA-AD0079 BJ-AD0011

SL-AD0045 SL-AD0047

BJ-AD0012 AK-AD0003

TE-AD0035 TE-AD0036

RE-AD0021

8J0 407 151D CONTROL ARM

CA-AD0079

CA-AD0079

8J0 407 151D CONTROL ARM

AK-AD0003 AK-AD0003K 8J0 199 231 ARM SUPPORT

BJ-AD0011

CA-AD0080K

CA-AD0079K

BJ-AD0011K 8J0 407 365 BALL JOINT

BJ-AD0012 BJ-AD0012K 8J0 407 366 BALL JOINT

SL-AD0047 1K0 505 465J STABILIZER LINK

SL-AD0045 1K0 411 315B STABILIZER LINK

TE-AD0035 8J0 423 811 TIE ROD END / M16x1.5 RHT

RE-AD0021 8J0 423 810 RACK END / M16x1.5 / RHT

TE-AD0036 8J0 423 812 TIE ROD END / M16x1.5 RHT

2006>TT  IIAUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0038
RB-AD0037

CA-AD0081 BJ-AD0011 BJ-AD0012 SL-AD0071

RE-AD0029TE-AD0051 TE-AD0052

BJ-AD0011 8J0 407 365 BALL JOINT

CA-AD0081

CA-AD0081

8S0 407 151D

8S0 407 151D

CONTROL ARM 

SL-AD0071 5Q0 411 315B SATBILIZER LINK

BJ-AD0012 8J0 407 366 BALL JOINT

CONTROL ARM

TE-AD0052 8S0 423 812A TIE ROD END

TE-AD0051 8S0 423 811A TIE ROD END

RE-AD0029 8S0 423 810A RACK END

BJ-AD0011K

CA-AD0081K

CA-AD0082K

BJ-AD0012K

2016-TT  IIIAUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           TT II               2006>

www.euromotors.com.uy



RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0038
RB-AD0037

CA-AD0081 BJ-AD0011 BJ-AD0012 SL-AD0071

RE-AD0029TE-AD0051 TE-AD0052

BJ-AD0011 8J0 407 365 BALL JOINT

CA-AD0081

CA-AD0081

8S0 407 151D

8S0 407 151D

CONTROL ARM 

SL-AD0071 5Q0 411 315B SATBILIZER LINK

BJ-AD0012 8J0 407 366 BALL JOINT

CONTROL ARM

TE-AD0052 8S0 423 812A TIE ROD END

TE-AD0051 8S0 423 811A TIE ROD END

RE-AD0029 8S0 423 810A RACK END

BJ-AD0011K

CA-AD0081K

CA-AD0082K

BJ-AD0012K

2016-TT  IIIAUDI

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

RB-AD0038
RB-AD0037

CA-AD0081 BJ-AD0011 BJ-AD0012 SL-AD0071

RE-AD0029TE-AD0051 TE-AD0052

BJ-AD0011 8J0 407 365 BALL JOINT

CA-AD0081

CA-AD0081

8S0 407 151D

8S0 407 151D

CONTROL ARM 

SL-AD0071 5Q0 411 315B SATBILIZER LINK

BJ-AD0012 8J0 407 366 BALL JOINT

CONTROL ARM

TE-AD0052 8S0 423 812A TIE ROD END

TE-AD0051 8S0 423 811A TIE ROD END

RE-AD0029 8S0 423 810A RACK END

BJ-AD0011K

CA-AD0081K

CA-AD0082K

BJ-AD0012K

2016-TT  IIIAUDI
+598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

AUDI           TT III                        2016

www.euromotors.com.uy


